## ID/IQ PROPOSAL\_ADDENDUM 1

DATE AND TIME OF BID OPENING: JUNE 11, 2025 AT 2:00 PM

CONTRACT ID: D13POC.012.23691

WBS ELEMENT NO.: 21S.0123, 21S.012, 22S.012

FEDERAL AID NO.: STATE FUNDED

COUNTY:

BURKE

TIP NO.:

N/A

MILES:

N/A

ROUTE NO .:

VARIOUS INTERSTATE, PRIMARY AND SECONDARY

ROUTES

LOCATION:

BURKE

TYPE OF WORK: SNOW AND ICE REMOVAL UPON REQUEST

#### NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

Farmen Taylorsville NC 28681

## NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number: D13POC.012.23691

TIP Number: FA Number:

N/A N/A

FA Number: WBS Element:

21S.0123, 21S.012, 22S.012

Description:

Snow and Ice Removal Upon Request

County:

**Burke County** 

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Mobilization and Demobilization	30	EA	\$350.00	\$10,500.00
2	SP	Equipment Operating Rate for Snow and Ice Removal	1500	HR	\$175.00	\$262,500.00
3	SP	Training	24	HR	\$40.00	\$960.00
4	SP	Dry Run/Calibration	3	EA	\$400.00	\$1,200.00
5	SP	Outfitting Fee	3	EA	72000	216000-
6	SP	Outfitting Fee (50% of Item 5 – 1st Year)	3	EA	To be calculated by NCDOT	To be calculated by NCDOT
7	SP	Outfitting Fee (30% of Item 5 – 2 <sup>nd</sup> Year)	3	EA	To be calculated by NCDOT	To be calculated by NCDOT
8	SP	Outfitting Fee (20% of Item 5 – 3 <sup>rd</sup> Year)	3	EA	To be calculated by NCDOT	To be calculated by NCDOT

Contractor: CLATE LLC
Address: 2415 Richey Farus La Taylorsville MC 28681
Phone: 828 312 8276 Federal ID: 88-4093307
Contractor License Number (If Available): L\A
Authorized Agent: Casey Richey Title: pres
Signature:

TOTAL BID FOR PROJECT: \$491.160.00

#### ID/IQ PROPOSAL ADDENDUM 1

DATE AND TIME OF BID OPENING: JUNE 11, 2025 AT 2:00 PM

**CONTRACT ID: D13POC.012.23691** 

WBS ELEMENT NO.: 21S.0123, 21S.012, 22S.012

FEDERAL AID NO.: STATE FUNDED

COUNTY: BURKE

TIP NO.: N/A

MILES: N/A

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY AND SECONDARY

ROUTES

LOCATION: BURKE

TYPE OF WORK: SNOW AND ICE REMOVAL UPON REQUEST

#### NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

Lawn & Order Mowing LLC

NAME OF BIDDER

425 Rance Buck RD, Vanceboro, NC 28586

ADDRESS OF BIDDER

## NORTH CAROLINA DEPARTMENT OF TRANSPORTATION **BID FORM**

Contract Number: D13POC.012.23691

TIP Number:

N/A

FA Number:

N/A 21S.0123, 21S.012, 22S.012

WBS Element: Description:

Snow and Ice Removal Upon Request

County:

Burke County

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Mobilization and Demobilization	30	EA	\$350.00	\$10,500.00
2	SP	Equipment Operating Rate for Snow and Ice Removal	1500	HR	\$175.00	\$262,500.00
3	SP	Training	24	HR	\$40.00	\$960.00
4	SP	Dry Run/Calibration	3	EA	\$400.00	\$1,200.00
5	SP	Outfitting Fee	3	EA	\$111,760	\$335,280
6	SP	Outfitting Fee (50% of Item 5 – 1st Year)	3	EA	To be calculated by NCDOT	To be calculated by NCDOT
7	SP	Outfitting Fee (30% of Item 5 – 2 <sup>nd</sup> Year)	3	EA	To be calculated by NCDOT	To be calculated by NCDOT
8	SP	Outfitting Fee (20% of Item 5 – 3 <sup>rd</sup> Year)	3	EA	To be calculated by NCDOT	To be calculated by NCDOT

TOTAL BID	FOR PROJECT	\$610,44	0	
Contractor: Lawn	& Order Mowing LL	С		
Address: 425 R	ance Buck RD, Van	ceboro, NC 28586	3	
Phone:252-62	6-1278	Federal ID:	93-3835273	
Contractor License N	umber (If Available):			
Authorized Agent:	Javier Oviedo	Title:Pr	esident	
Signature:	Dan	I	Date: 6-5-25	

### ID/IQ PROPOSAL\_ADDENDUM 1

DATE AND TIME OF BID OPENING: JUNE 11, 2025 AT 2:00 PM

CONTRACT ID: D13POC.012.23691

WBS ELEMENT NO.: 21S.0123, 21S.012, 22S.012

FEDERAL AID NO.: STATE FUNDED

COUNTY: BURKE

TIP NO.: N/A

MILES: N/A

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY AND SECONDARY

ROUTES

LOCATION: BURKE

TYPE OF WORK: SNOW AND ICE REMOVAL UPON REQUEST

#### NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

Dixie Lawn Service, Inc.

NAME OF BIDDER

PO BOX 688 Kings Mountain, NC 28086

ADDRESS OF BIDDER

# NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number:

D13POC.012.23691

TIP Number:

N/A

FA Number:

N/A

TOTAL BID FOR PROJECT:\_

WBS Element:

21S.0123, 21S.012, 22S.012

Description:

Snow and Ice Removal Upon Request

County:

Signature:

**Burke County** 

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Mobilization and Demobilization	30	EA	\$350.00	\$10,500.00
2	SP	Equipment Operating Rate for Snow and Ice Removal	1500	HR	\$175.00	\$262,500.00
3	SP	Training	24	HR	\$40.00	\$960.00
4	SP	Dry Run/Calibration	3	EA	\$400.00	\$1,200.00
5	SP	Outfitting Fee	3	EA	192,500.00	577,500.00
6	SP	Outfitting Fee (50% of Item 5 – 1st Year)	3	EA	To be calculated by NCDOT	To be calculated by NCDOT
7	SP	Outfitting Fee (30% of Item 5 – 2 <sup>nd</sup> Year)	3	EA	To be calculated by NCDOT	To be calculated by NCDOT
8	SP	Outfitting Fee (20% of Item 5 – 3 <sup>rd</sup> Year)	3	EA	To be calculated by NCDOT	To be calculated by NCDOT

Contractor: Dixie Lawn Service, Inc.		
Address: PO BOX 688 Kings Mountain, NC 2	8086	
Phone: 704-259-6160 or 704-718-1414	_ Federal ID: <u>56-1342166</u>	
Contractor License Number (If Available):		
Authorized Agent: James M. McHenry, Jr	Title: President	

852,660.00

Date: 06-09-2025

#### ID/IQ PROPOSAL\_ADDENDUM 1

DATE AND TIME OF BID OPENING: JUNE 11, 2025 AT 2:00 PM

CONTRACT ID: D13POC.012.23691

WBS ELEMENT NO.: 21S.0123, 21S.012, 22S.012

FEDERAL AID NO.: STATE FUNDED

COUNTY:

BURKE

TIP NO.:

N/A

MILES:

N/A

**ROUTE NO.:** 

VARIOUS INTERSTATE, PRIMARY AND SECONDARY

ROUTES

LOCATION:

BURKE

TYPE OF WORK: SNOW AND ICE REMOVAL UPON REQUEST

#### NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

CARO

DA GRANING LANDSCAPES, INC

NAME OF BIDDER

64 BELLA ROAD, SYLVA NC 28779

ADDRESS OF BIDDER

## NORTH CAROLINA DEPARTMENT OF TRANSPORTATION **BID FORM**

Contract Number: D13POC.012.23691

TIP Number:

N/A

FA Number:

N/A 21S.0123, 21S.012, 22S.012

WBS Element: Description:

Snow and Ice Removal Upon Request

County:

Burke County

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Mobilization and Demobilization	30	EA	\$350.00	\$10,500.00
2	SP	Equipment Operating Rate for Snow and Ice Removal	1500	HR	\$175.00	\$262,500.00
3	SP	Training	24	HR	\$40.00	\$960.00
4	SP	Dry Run/Calibration	3	EA	\$400.00	\$1,200.00
5	SP	Outfitting Fee	3	EA	399,990.	1,199,970.
6	SP	Outfitting Fee (50% of Item 5 – 1st Year)	3	EA	To be calculated by NCDOT	To be calculated by NCDOT
7	SP	Outfitting Fee (30% of Item 5 – 2 <sup>nd</sup> Year)	3	EA	To be calculated by NCDOT	To be calculated by NCDOT
8	SP	Outfitting Fee (20% of Item 5 – 3 <sup>rd</sup> Year)	3	EA	To be calculated by NCDOT	To be calculated by NCDOT

TOTAL BID FOR PROJECT: \$1,4	75,130. №
Contractor: BH Graning Landscapes, In Address: 64 Bella Rd	J.C.
Phone: <u>828-586-8303</u> Federal ID	1: 300307223
Contractor License Number (If Available):# 035	51
Authorized Agent: Roger Murajae Title: _ Signature: Title: _	6. M. Date: 6-10-2025